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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þöìîûyV 
 

    !î¦þy† ééô „þ 
£zvþz!˜Ýþ éôé 1 

     

1Ð öëöì„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV =’ îœöì“þ œ„þ „þ# öîyöìGþ˜Ú ¢‚öìÇþöìþ™ ›%…Ä=’ ç ö†ï’=öì’îû þ™yíÅ„þÄ öœ…Ú (2.5 + 2.5) 

 …V ²Ì!“þîû*þ™ îlßþîy” îœöì“þ „þ# öîyGþyëûÚ 

 †V îy„Åþöìœîû !î›)“Åþ •yîû’y“þ_́ î‹Åöì˜îû “þyêþ™ëÅ !˜’Åëû „þöìîûyÐ 

 ‡V öì„þy˜ ë%!_«îû !¦þ!_öì“þ îy„Åþöìœ ›%…Ä ç ö†ï’ =öì’îû !î¦þy‹˜öì„þ xßþº#„þyîû „þöìîûöìŠé˜Ú 
 

2Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV ¢£‹y“þ •yîû’y „þyöì„þ îöìœÚ œ„þ „þ#¦þyöìî ¢£‹y“þ •yîû’yîy” …[þ˜ „þöìîû˜Ú é— xyöìœy‰þ˜y „þöìîûyÐ (5 + 10) 

 …V îy„Åþöìœ !„þ x£‚¢îÅßþºîy”#Ú ~ !î¡ìöìëû ö“þy›yîû î_«îÄöì„þ vþzþ™ë%_« ë%!_«¢£ xyöìœy‰þ˜y „þöìîûyÐ   

 

£zvþz!˜Ýþ éôé 2 
 

3Ð öë ö„þyöì˜y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV !£vþzöì›îû ›“þy %̃¢yöìîû– ›%o’ ç •yîû’yîû ›öì•Ä þ™yíÅ„þÄ îÄy…Äy „þöìîûyÐ 

 …V !£vþz›öì„þ !„þ ¢‚Ÿëûîy”# îœy ëyëûÚ xyöìœy‰þ˜y „þöìîûyÐ 

 †V „þyöì^ùÝþîû ›öì“þ– þ™)îÅ“þƒ!¢kþ Kþyöì˜îû ÷î!ŸÜTÄ=!œ „þ# „þ#Ú 

 ‡V „þy^ùÝþ „þ#¦þyöìî !îöìÙÕ¡ì„þ ç ¢‚öìÙÕ¡ì„þ xî•yîûöì’îû ›öì•Ä þ™yíÅ„þÄ „þöìîû̃ Ú vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 
 

4Ð öë ö„þyöì˜y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV xydy ¢Á™!„Åþ“þ !£vþzöì›îû ›“þ!Ýþ xyöìœy‰þ˜y „þöìîûyÐ ~£z ›“þ !„þ ¢îÅöì“þy¦þyöìî @ùÌ£’öìëy†ÄÚ (10 + 5) 

 …V òöì”Ÿó ¢Áºöìõþ „þyöì^ùÝþîû ›“þ îÄy…Äy „þöìîûyÐ „þy^ùÝþ ö„þ˜ ö”Ÿöì„þ x %̃¦þöìîîû þ™)îÅ“þƒ!¢kþ xy„þyîû îöìœöìŠé˜Ú (10 + 5) 

 

!î¦þy† ééô … 
£zvþz!˜Ýþ éôé 3 

 

5Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (2 × 5) 

 „þV  îlßþ†“þ ²Ì!“þþ™!_îû „)þÝþy¦þy¢ îœöì“þ „þ# öîyGþÚ 

 …V îlßþ†“þ ¢›yíÅ„þ ç öëï!_«„þ ¢›yíÅ„þ îyöì„þÄîû ›öì•Ä þ™yíÅ„þÄ vþz”y£îû’¢£ îÄy…Äy „þöìîûyÐ 

 †V ë!”  p v q v r   !›íÄy £ëû “þy£öìœ !˜Á¬!œ!…“þ î‰þ˜y„þyîû=!œîû ¢“þÄ›)œÄ „þ# £öìîÚ 

  xV    pv q q r   S2.5V 

  xyV    p q q p     S2.5V 

 ‡V  ~„þ!Ýþ ßþº“þƒ!›íÄy îy„þÄy„þyîûöì„þ !˜öì¡ì• „þîûöìœ ö„þy ä̃ îy„þÄy„þyîû þ™yçëûy ëyöìîÚ ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûyÐ 
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6Ð öëöì„þyöì̃ y ~„þ!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ (1 × 15) 

 „þV S1V ¢“þÄ¢yîû’# þ™kþ!“þîû myîûy !˜’Åëû „þöìîûy !˜Á¬!œ!…“þ î‰þ˜y„þyîû=!œ ßþº“þ­¢“þÄ– ßþº“þ­!›íÄy xíîy xyþ™!“þ„þ ƒ S2×2V 

   xV p [p q q  

   xyV p p q q  

  S2V ¢“þÄ¢yîû’# þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«=!œîû ÷î•“þy !î‰þyîû „þöìîûy ƒ S3+3V 

   xV M N N

M

N N

 

   xyV G H G H

G H

G H

 

  S3V xV ö„þyöì˜y x÷ìî• ë%!_« xy„þyöìîûîû !„þ ÷î• !˜öìîŸ˜ ”,ÜTyhsþ ¢½þîÚ ”,ÜTyhsþ¢£ xyöìœy‰þ˜y „þöìîûyÐ S2.5V 

   xyV ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûy ƒ ~„þ!Ýþ ßþº“þ­¢“þÄ îy„þÄ öëöì„þyöì̃ y îyöì„þÄîû myîûy ²Ì!“þþ™y!”“þ £ëûÐ S2.5V 

 …V S1V œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜’Åëû „þöìîûy !˜Á¬!œ!…“þ þî‰þ˜y„þyîû=!œ ¢›yíÅ„þ !„þ˜y ƒ S3V 

   p q q p , p q p q  

  S2V œ‡%„þîû’ þ™kþ!“þîû ¢y£yöìëÄ !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î•“þy !î‰þyîû „þöìîûy ƒ S3V 

   

G H G H

G H

G H

 

  S3V þ™Çþþ™y“þ˜ Sfell swoopV þ™kþ!“þîû myîûy !˜’Åëû „þöìîûy !˜Á¬!œ!…“þ î‰þ˜y„þyîû ”%!Ýþ ~„þ!Ýþ xþ™îû!Ýþöì„þ ²Ì!“þþ™y!”“þ 

„þöìîû !„þ˜y ƒ S2+2V 

   p q, q p   

  S4V öì„þyëûy£z˜öì„þ x %̃¢îû’ „þöìîû ÷î• îy„þÄy„þyîû ç ¢D!“þþ™)’Å îy„þÄy„þyöìîûîû ¢‚Kþy ç vþz”yîû£’ ”yçÐ S5V 

  

£zvþz!˜Ýþ éôé 4 

7Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S2  5V 

 „þV ”,ÜTyhsþ¢£ ¢y!_„þ ”,ÜTyhsþ#„þîû’ ¢)e!Ýþ SEIV îÄy…Äy „þöìîûyÐ   

 …V xy„þyîû†“þ ÷î•“þyîû öÇþöìe x %̃›yöì˜îû !˜ëû› Srules of inferenceV ~î‚ ßþiy˜yhsþ„þîûöì’îû !˜ëû› Srules of 

replacementV éôé~îû ›öì•Ä þ™yíÅ„þÄ „þöìîûyÐ    S1 + 4V 

 †V xV !î!£“þy„þyîû „þyöì„þ îöìœÚ ”,ÜTyhsþ¢£ xyöìœy‰þ˜y „þöìîûyÐ 

  xyV ¢›yíÅ„þ !î!£“þy„þyöìîû ²Ì„þyŸ „þöìîûy ƒ 

      x Sx Px    

 ‡V ›y˜„þ“þöì_́îû ²Ìöìëûy‹˜#ëû“þy ”,ÜTyhsþ¢£ îÄy…Äy „þöìîûyÐ 
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8Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1×15V 

 „þV !˜Á¬!œ!…“þ ë%!_«=!œîû xy„þyîû†“þ ÷î•“þy †àþ˜ „þöìîûy Söëöì„þyöì˜y !“þ˜!ÝþV ƒ S3  5V 

  xV A B

B C

C A

A C

A C











  

  xyV ë!” xy›îûy £zvþzöìîûyöìþ™ ëy£z “þy£öìœ xy›îûy ößþñöìuþöì˜!¦þëûy öîvþüyöì“þ ëyöìîyÐ ë!” xy›îûy £zvþzöìîûyöìþ™ ëy£z “þy£öìœ ë!” 

xy›îûy ößþñöìuþöì˜!¦þëûy öîvþüyöì“þ ëy£z “þy£öìœ xy›îûy ˜îûçöìëûöì“þ öîvþüyöì“þ ëyöìîyÐ ë!” xy›îûy ößþñöìuþöì˜!¦þëûy öîvþüyöì“þ 

ëy£z “þy£öìœ ë!” xy›îûy ˜îûçöìëûöì“þ öîvþüyöì“þ ëy£z “þy£öìœ xy›îûy öšþyvÅþ †yvþü#öì“þ „þöìîû öîvþüyöìîyÐ ¢%“þîûy‚ ë!” xy›îûy 

£zvþzöìîûyöìþ™ ëy£z “þy£öìœ xy›îûy öšþyvÅþ †yvþü#öì“þ „þöìîû öîvþüyöìîyÐ 

  £zV   

  

  

x Ix Jx

x Ix Jx

x Jx Ix





 

  

  {V öì„þyöì̃ y !‹!˜¡ì ”y›# £öìœ “þy ›)œÄîy˜ ç ”%œÅ¦þÐ ëy ›)œÄîy˜ “þy£z ²Ìy!íÅ“þ ç ”y›#Ð ¢%“þîûy‚ ö„þyöì˜y !‹!˜¡ì ”y›# 

xíîy ›)œÄîy˜ £öìœ “þy ”y›# ~î‚ ›)œÄîy˜ vþz¦þëû£z £öìîÐ 

 …V xV ›y˜„þ– îÄ!_«@ùÌy£„þ £z“þÄy!” îÄî£yîû „þöìîû !˜Á¬!œ!…“þ îy„þÄ=!œöì„þ ²Ì“þ#„þy!ëû“þ „þöìîûy Söëöì„þyöì˜y ‰þyîû!ÝþVƒ S4  1.5V 

   iV xyöìþ™œ ç „þ›œyöìœî% £ëû ¢%ßþºy”% ç ßþºyßþiÄ„þîûÐ 

   iiV ö„þyöì˜y ö„þyöì˜y …yîyîû …yçëûyîû öëy†Ä ö„þîœ ë!” “þy îûy§¬y „þîûy £ëûÐ 

   iiiV ö„þyöì˜y î£z !‰þ_y„þ¡ìÅ„þ £öìî ö„þîœ ë!” “þy ¢%!œ!…“þ £ëûÐ 

   ivV ö„þyöì˜y „%þ!hßþ†#îû– öë ö‹öì“þ ë!” ~î‚ ö„þîœ ë!” ö¢ ¦þy†Äîy˜ £ëû– ”Çþ ˜ëûÐ 

   vV œ„þ ¢‚Ÿëûîy”# ˜˜– !„þlsþ !£vþz› £˜ ¢‚Ÿëûîy”#Ð 

   viV ö„þyöì˜y ö„þyÝþ£z î,!ÜT²Ì!“þöìîûy•„þ £öìî ˜y ë!” ˜y “þy !îöìŸ¡ì¦þyöìî ÷“þ!îû £ëûÐ 

   viiV ë!” ö„þyöì˜y ö‡yvþüy vþzþ™ë%_« ²Ì!ŸÇþ’ þ™yëû “þy£öìœ “þy Ÿyhsþ £öìîÐ 

   viiiV ›y %̃¡ì ~î‚ ö„þîœ›ye ›y %̃¡ì£z xyd¢öì‰þ“þ˜Ð 

  xyV ¢“þÄ›)œÄ xyöìîûyöìþ™îû myîûy !˜Á¬!œ!…“þ ë%!_«=!œîû x÷ìî•“þy ²Ì›y’ „þöìîûy Söëöì„þyöì̃ y ”%!ÝþV ƒ S3 + 3V  

   iV   

  

  

x Jx Kx

x Kx Lx

x Lx Jx





 

  

   iiV 

 

 

I J

K L

I L

J K



 

  

   iiiV ë!” ö„þyöì˜y !„þŠ%é •y“%þ!˜!›Å“þ £ëû “þöìî “þy ¦þD%îûÐ ¦þD%îû †£˜y xyöìŠéÐ ¢%“þîûy‚ •y“%þ !˜!›Å“þ †£˜y xyöìŠéÐ  

  £zV    x Px x Px   —é ~£z îy„þÄ!Ýþ !„þ !˜¦Å%þœÚ ë%!_«¢£ vþz_îû ”yçÐ 3 
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English Version : 

[Use a separate Answer Book for each group] 
 

Group – A 

Unit-I 
 

1. Answer any two questions of the following : (2 × 5) 

 a) What does Locke mean by quality? Write, in brief, the difference between primary quality and 

secondary quality. (2.5 + 2.5) 

 b) What is Representative Realism? 

 c) Bring out the implications of Berkeley's rejection of abstract idea. 

 d) On what grounds Berkeley rejected the distinction between primary and secondary qualities. 
 

2. Answer any one question of the following : (1 × 15) 

 a) What is innate idea? How does Locke refute the doctrine of innate idea? Discuss. (5 + 10) 

 b) Is Berkeley a Solipsist? Give adequate reasons to establish your opinion.   

  

Unit-II 
 

3. Answer any two questions of the following : (2 × 5) 

 a) Explain, after Hume, the distinction between impression and idea. 

 b) Is Hume a Sceptic? Explain your view. 

 c) What, according to Kant, are the marks of a priori knowledge? 

 d) How does Kant distinguish between analytic and synthetic judgments? Explain with examples. 
 

4. Answer any one question of the following : (1 × 15) 

 a) Explain Hume's view on soul. Is this view completely satisfactory? (10 + 5) 

 b) Explain Kant's view on space. Why does Kant say that space is a priori form of intuition? (10 + 5) 

 

 

Group – B 

     Unit-III 

 

5. Answer any two questions of the following : (2 × 5) 

 a) What do you mean by the paradoxes of material implication? 

 b) Explain with examples, the distinction between material equivalence and logical equivalence. 

 c) If   p v q v r  is false then determine the truth value of the following: 

  iV    p v q q r   (2.5) 

  iiV    p q q p     (2.5) 

 d) What statement form is obtained by negating a self contradictory statement form? Explain with 

example. 
 
 

6. Answer any one of the following : (1 × 15) 

 A) (i) Determine by the truth table method whether the following forms of propositions are 

tautologous, self-contradictory or contingent. (2+2) 

   a) p [p q q  

   b) p p q q  
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  (ii) Test the validity of the following arguments by the truth table method : (3+3) 

   iV M N N

M

N N

 

   iiV G H G H

G H

G H

 

  (iii) a) Is it possible to have a valid substitution instance from an invalid argument form? 

Explain with an example. (2.5) 

   b) Explain with example: A tautologous statement is implied by any statement 

whatsoever. (2.5) 

 B) (i) Determine by the method of resolution whether following form of propositions are 

equivalent: (3) 

   p q q p , p q p q  

  (ii) Test the validity of the following argument by the method of resolution: (3) 

   

G H G H

G H

G H

 

  (iii) Determine by fell swoop method whether each of the following schema implies the other. (2+2) 

    p q, q p  

  (iv) Give definition and example of valid schema and consistent schema following Quine. (5) 

 

     Unit-IV 

 

7. Answer any two questions of the following: (2  5) 

 a) Explain, with example, the rule of Existential Instantiation (EI). 

 b) Distinguish between rules of inference and rules of replacement in the context of formal proof 

of validity. 

 c) i) What is normal form formula? Explain with an example. 

  ii) Give the normal form formula of the following:   x Sx Px  

 d) Explain the need for quantification theory, with examples. 

 

8. Answer any one question of the following: (1×15) 

 A) i) Construct formal proof of validity for the following arguments: (any three) (3  5) 

   a) A B

B C

C A

A C

A C











 

   b) If we go to Europe then we tour Scandinavia. If we go to Europe then if we tour 

Scandinavia then we will visit Norway. If we tour Scandinavia then if we visit Norway then we 

shall take a trip on a ford. Therefore, if we go to Europe then we shall take a trip on a ford. 
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   c)   

  

  

x Ix Jx

x Ix Jx

x Jx Ix





 

 

   d) If anything is expensive, it is both valuable and rare. Whatever is valuable is both 

desirable and expensive. Therefore if anything is either valuable or expensive then it must be 

both valuable and expensive. 

B) i) Symbolize the following using quantifiers, individual variables etc. (any four): (4  1.5) 

  a) Apple and oranges are delicious and nuitritious 

  b) Some foods are edible only if they cooked. 

  c) A book is interesting only if it is well-written. 

  d) A wrestler who wins if and only if he is lucky is not skillful. 

  e) Locke is not a sceptic, but Hume is a sceptic. 

  f) No coat is waterproof unless it has been specially treated. 

  g) If any horse is well trained then it is gentle. 

  h) Men and only men are self-conscious. 

 ii) Prove the invalidity of the following arguments by the method of assigning truth value (any 

two) :  (3 + 3) 

  a)   

  

  

x Jx Kx

x Kx Lx

x Lx Jx





 

 

  b) 

 

 

I J

K L

I L

J K



 

 

  c) If anything is metallic then it is breakable. There are breakable ornaments. Therefore, there 

are metallic ornaments. 

 iii)    x Px x Px   — Is it a correct statement? Give reason in favour of your answer. (3) 

 

———— × ———— 


